
 

 

 

     T   U 
     3   12 
     4   2 
-    2   9 
     1   3 
       

42 – 29 =?  
 
2 is less than 9, so we make the 2 larger by 
‘borrowing’ a TEN. Reduce the 4 TENS by 1 and 
increase the 2 UNITS by 10.  Then you can carry on 
the sum as normal.  
12 – 9 = 3       and      3 – 2 = 1 
 
 
       



 

 

  H   T   U 
       3   12 
  2   4   2 
-      5   9 
            3 
       

242 – 59 =?  
 
As usual, start with the UNITS.  
 

Once we’ve ‘borrowed’; 12 – 9 = 3 
 
 
       

Now we have 3 and 5 in the TENS column. 3 is less than 5, so we will need to 
‘borrow’ from the HUNDREDS column to be able to subtract. Reduce the 2 
HUNDREDS by 1 and increase the 3 TENS to 13, just like you would do with the 
UNITS.  

 
13 – 5 = 8 
 

So we put 8 in the TENS column and 1 then goes in the  
HUNDREDS column to give the answer of 183.  

  H   T   U 
      13 
  1   3   12 
  2   4   2   
-       5   9 
    1  8  3 
       


